
we
 

DRIVES
 

INSTRUCTION SHEET D2-3245
Inverter Disconnect Kit

Model 1CB4100
For Use With GP2000 50—100 HP and VTAC V 60-100 HP A-C VxS® Drives

 

DANGER

ONLY QUALIFIED ELECTRICAL PERSONNEL
FAMILIAR WITH THE CONSTRUCTION AND
OPERATION OF THIS EQUIPMENT AND THE
HAZARDS INVOLVED SHOULD INSTALL, AD-
JUST, OPERATE, AND/OR SERVICE THIS
EQUIPMENT. READ AND UNDERSTAND THIS
MANUALIN ITS ENTIRETY BEFORE PROCEED-
ING. FAILURE TO OBSERVE THIS PRECAU-
TION COULD RESULT IN SEVERE BODILY
INJURY OR LOSSOFLIFE.   

DESCRIPTION

The products described in this instruction sheet are

manufactured and/or distributed by Reliance® Electric
Industrial Company.

TheInverter DisconnectKit Provides a meansof discon-
necting input powerfrom the controller. It consists of an
inverter disconnect device, through-the-door handle

and operating mechanism, and appropriate mounting
and wiring hardware. This kit can be used with 50-100
HP GP2000 or 60—100 HP VTAC V controllers. The cabi-
net door comes with a prefabricated opening for the
handle, covered by an accessplate that is removed for
installing the kit.

RECEIVE AND ACCEPT THE SHIPMENT

Reliance Electric’s terms of sale in all instances are
F.0.B. point of origin. The user is responsible for thor-
oughly inspecting the equipment before accepting ship-

ment from the transportation company.

If all the items called for on thebill of lading or on the ex-

press receipt are not included or if any items are ob-
viously damaged, do not accept the shipment until the
freight or express agent makes an appropriate notation

on yourfreight bill or express receipt. If any concealed
loss or damageis discoveredlater, notify your freight or
express agent within 15 days of receipt and request that
he make an inspection of the shipment. Keep the entire

shipmentintactin its original shipping container.

The useris responsible for making claim against the car-
rier for any shortage or damage occurring in transit.
Claims for loss or damagein shipment must not be de-
ducted from the Reliance Electric invoice, nor should

paymentof the invoice be withheld while awaiting ad-
justment of such claims since the carrier guarantees

safe delivery.
VxS and Reliance are registered trademarks of Reliance Electric or its subsidiaries.
© Copyright Reliance Electric Company, 1992.

Upon receiving, check that the contents of the kit are as

listed in Table 1. Store this equipmentin a clean and dry

area until ready to use. The ambient temperature of the
storage area must not exceed 65°C (149°F) or go below
—40°C (—40°F)within a relative humidity range of 5 to
95% without condensation.

FILE A RETURN REQUEST

1. To return equipment, send a written request to

Reliance Electric within ten days of receipt.

2. Do not return equipment without a numbered
Equipment Return Authorization (ERA) from
Reliance Electric.

3. Reliance Electric reserves the right to inspect the
equipmentonsite.

Table 1. Complete Parts List.

 

Description Quantity Part Number

Inverter Disconnect 1 65242-200ZSX

M5 x 8mm CCMS 4 419062-1 PHF

Mounting Bracket 1 803433-31R

Wire Harness 1 803433-40RR

M4 x 100mm MS 4 419062-12CGZ

Disconnect Mechanism 1 77800-100RC

Interconnect Rod 1 612182-22A

Handle 1 77800-100S

Nameplate 1 423401-4A

Pop Rivet 2 601754-AR

1/4 x 20 Bolt 3 601741-B

1/4 Lock Washer 3 601748-3J

1/4 Flat Washer 3 601748-1E

INSTALLATION

DANGER

DO NOT INSTALL MODIFICATION KITS WITH
POWER APPLIED TO THE UNIT. DISCONNECT
AND LOCK OUT INCOMING POWER BEFORE
ATTEMPTING SUCHINSTALLATION. FAILURE TO
OBSERVE THIS PRECAUTION COULD RESULT IN
SEVERE BODILY INJURY OR LOSSOFLIFE.   

RELIANCE 1
ELECTRICS



. Disconnectall powerto the controller before install-

ing this kit.

. Loosen the two (2) captive screws and open the
cabinet door.

. Removethe nuts holding the inverter disconnect ac-
cessplate to the door; discard the nuts and plate.

. Mountthe inverter disconnect mounting bracket to

the inverter cabinet using the four (4) M5 x 8mm

CCMSscrewsprovided. Refer to Figure 1 for mount-
ing location.

. Wire harness 803433-40RRis already attached to

the load side of the inverter disconnect. Before
mounting the inverter disconnect to the mounting

bracket, route the harness through the appropriate
openings and channelsin the cabinet as shownin

Figure 1.

. Position the disconnect mechanism (part number

77800-100RC) over the inverter disconnect so that
the mounting holes in eachline up and the togglefits
through the slot designed forit in the mechanism.
Mount the assembly to the mounting bracket using
the four (4) M4 x 100 MS screwsprovided. Refer to
Figure 1 for mounting detail.
 

DANGER

7. Follow the wiring diagrams and instructions in the

controller Instruction Manual and/or any appropri-

ate kit instruction manuals(if other kits are installed)
for all wires except those wires detailed in this in-

struction manual.

8. Disconnect A-C input power from the input side of
the inverter fuse panel terminals R,S, T. Refer to Fig-
ure 2 for wiring details.

9. Connect A-C input powerto terminals L1, L2, L3 on

the line side of the inverter disconnect. Refer to Fig-
ure 2 for wiring detail.

CAUTION: The disconnect switch does not provide

short circuit protection. J-type input fuses must bein-
stalled for this purpose. Failure to observe this precau-

tion could result in damage to, or destruction of, the

equipment.

10. Connect the three leads from wire harness

803433-40RR to the input side of the inverter fuse
panel, terminals R, S, T as shownin Figure 1. Kept

nuts are supplied with the fuse panel.

11. Insert connection rod 612182-22A into the discon-
nect mechanism andtighten the set screw.

12. Close the cabinet door. Place the inverter discon-
nect handle over the end of the connecting rod and
align the handleto the properposition. Then tighten

THE USER IS RESPONSIBLE FOR CONFORMING
TO THE NATIONALELECTRICAL CODE AND ALL
OTHER APPLICABLE LOCAL CODES. WIRING
PRACTICES, ENCLOSURES, GROUNDING,DIS-
CONNECTS, AND OVERCURRENT PROTECTION
ARE OF PARTICULAR IMPORTANCE. FAILURE
TO OBSERVE THESE PRECAUTIONS COULD
RESULT IN SEVERE BODILY INJURY OR LOSS OF
LIFE.   

13.

14.

the tap type mounting screws provided with the

handle.

Operate the handle to verify that the disconnect
mechanism is working properly.

Attach the INVERTER DISCONNECT nameplate to

the cabinet door using the two poprivets and the
nameplate provided with the kit. Two holes are pre-

drilled in the properlocation.

 

 
DISCONNECT MECHANISM

   
  

WIRING HARNESS
803433—40RR 

ENCLOSURE SIDE VIEW
w/DOOR

1/4 X% 20 BOLT
LOCK/WASHER
FLAT WASHER

(3 PLACES)

MAY BE BUS BARS
OR J-TYPE FUSES

M4 X 100mm MS
SCREWS (4 PLACES)    

  

MS X 8mm CCMS
(4 PLACES)      

 

INVERTER
DISCONNECT

   

WI
RI
NG

HA
RN

ES
S.

8
0
3
4
3
3
-
4
0
R
R

ENCLOSURE FRONT VIEW
w/O DOOR   

Figure 1. Inverter Disconnect Mounting Location.





 

 

A/
C

IN
PU

T

 

INVERTER
DISCONNECT KIT

 

REACTOR

Lt Z7™ NNN
—_——_0—++—_o0 | o-—>

|
|

L2 Z7™~ ost TIrIr

  (OPTIONAL)
 

(OPTIONAL)  
 

Figure 2. Inverter Disconnect Connection Diagram.

Reliance Electric / 24701 Euclid Avenue / Cleveland, Ohio 44117 / (216) 266-7000

Printed in U.S.A. D2-3245

RELIANCE
ELECTRIC |

1092


